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7. There are 150 objective type questions in this Question
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the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.
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Answer-Sheet and cover page of Question Booklet is to be
handed over to the invigilator. Carbon copy of the Answer-
Sheet and Question Booklet may be taken away by the
examinee.
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Part - A : Knowledge of Computer 1-50

Part - B: (1) Hindi (with Grammar) 51-60
(2) English 61-70
(3) Mathematics 71-90
(4) General Knowledge 91-110
(5) Current Affairs 111-120
(6) General Knowledge of State 121-140
(7) Sports 141-145
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11. In case of any ambiguity in Hindi version, the English
version shall be considered authentic. For Technical
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PART - A
KNOWLEDGE OF COMPUTER

To type subscript character like H,O, use
the following keyboard combination :

(A) Alt+ =
(B) Ctrl+ =
(C) Ctrl+ Shift + =

(D) Alt+Shift+ =

Which one of the following search engine
is exclusively meant for scientific

information ?
(A) Google
(B) SCIRUS
(C) Yahoo

(D) Altavista

Cell address $A $4 in a formula means it

isa:

(A) mixed cell reference
(B) absolute reference
(C) relative cell reference

(D) all of these

1.

3.

T - 3
HIET WA AHR JH

a-fahte H,0 S et & fa frefata
HI- I ST o o §

(A) M+ =

® B Foa+-=

(C) e+ R+ =

(D) sTee+ R+ =

frefafeg § @ sF-w 99 39 fogioe

SR e % fg R 2

(A) T

Q@ ==

(© 3
(D) el

T g3 H 9 U9 () $A $4 1 Haes
BT :

(A) T 9 e

Q@) TR

() Teifes ¥@ R
(D) SR |l

SPACE FOR ROUGH WORK / T& &g & for& sre

1602/ UE-BETI/RCE-M

Set - A



{)diaprep.in

4.  Moving Picture Experts Group (MPEG)is 4. e ferer Teaee 79 (T @SS ) Akl

A 9 2016

used to compress : frfafaa w w0F w6 % fag fwn sm
£

(A) Frames (A) HH

(B) Images (B) THS®

(C) Audio (C) enfedlt

(D) Video & o) fafe

5. The primary function of an operating 5. U W fawd % &7 HERH T

system is :

(A) memory management (A) T Fsrie

(B) process management (B) WHH s

(C) disk and I/O device management () fewr sk TIqe/3eeye fearH
e

(D), all of the above ’ Q (D) SHH quft

6. The delay that occur during the playback 6. S % wes 8 S ferere e ? 9% Sean

of a stream is called : ¥

(A) Stream delay (A) i fea

(B) Playback delay (B) o oot

(C) Jitter Q ©) fa=

(D) Event delay (D) == =R

7. A CD - Risalso known as : 7. T W ¥ wEw 7 oft

ST SR |

(A) WORM Q (A) WORM

(B) WORO (B) WORO

(C) WORD (C) WORD

(D) WMRO (D) WMRO

SPACE FOR ROUGH WORK / T% &1d & o s
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8. The main difference between Windows
and DOS is the ability to :

(A) Multitask

(B) Speed up

(C) Run a programme
(

D) None of these

9.  The following is the code embedded in
some legitimate program that is set to
“explode” when certain conditions are
met :

(A) Trap doors
(B) Trojan horse
(C) Logic bomb
(D) Virus

10. How many numbers could ENIAC store
in its internal memory ?

(A) 100
(B) 20
(C) 80
(D) 40

11. Which of the following protocol allows
to download an e-mail from e-mail

server ? .
(A) HTTP
(B) FIP
(C) SMTP
(D) PoP3

8. T iR S emfEn fawen & €= =
3TN H AT T
® ) wEREE
(B) T 3™
(C) WUYU™
(D) ST H 9 HE T&

9. frefafen afsEde oM # @ TeeE &S
T Fo vl F 7ol 81 W TEHEE e

(A) sued

(B) T
& ) «ifsws

(D) aRRE

10. ST FAR H UUsw et fhad ok
R X Gehdl & ?

(A) 100
@3 20
(C) 80
(D) 40

11. 1= § @ S9-T1 WA e-mail server 9
e-mail SETAE HA i STAM A1 7 ?

(A) HTTP
(B) FTP
(C) SMTP

& (D) PoP3

SPACE FOR ROUGH WORK / T% & & fod srg
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12. Software that prevents, detects and  12. AR S for JeRareE/ fae W A
removes destructive program is called W @‘tﬂ %, FCAG TS Y S S
_________ FAMLE
(A) detector* (A) feeam
(B) virus (B) 9=y
(C) remover ©) foR
(D) antivirus Q (D) T=arRR"
13. Data cannot be written more than once 13. 7%@"1@@3@@?@ fyen
using : T fer@n s weRdT g
(A) CD-RW (4) - sy,
(B) CD-R & (B #WI-sr
(C) DVD-RW (C) & -In Ty,
(D) Flash drive (D) T ERA
14. What type of device is a computer 14, FIX ASH FFY THT H feamy 772
mouse ?
(A) Storage (A) VIS
(B) Input 9w T
(€) Output (C) &HIge
(D) Input and Output both (D) TYE qAT RHTYE &
SPACE FOR ROUGH WORK / T% & & o srme
Set- A 1602/ UE-BETI/RCE-M
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15. The type of threats on the security of a ~ 15. HFX faen o1 eosk =t faagfdl =+ oy
computer system or network are Y I (TR) §?
(a) Interruption (a) F=IIE
(b) Interception (b) EEATiE|
(c) Modification (c) wfefrareA
(d) Creation (d) HITSHE
(e) Fabrication (e) hfsrhem
Codes : He
(A) (@), (b), (c) and (d) only (A) (a), (), (0) M (d) Fere
(B) (b), (9), (d) and (e) only (B) (b), (0) (d) ¥ (e) A
© (@) (B), (©) and (¢) only Q© @ ) () ()P
(D) (@), (b), (), (d) and () (D) (@), (®), ©, (@& ¥ (e)
16. In MS-Word, to spell check which  16. THTH. IE H WA w9 o e 6w
function key you will press ? ' =T START TR ST § ?
(A) F5 (A) F5
(B) Fé6 (B) Feé
(C) F7 Qo
(D) F8 (D) F8
17. Planning the content and the flow of  17. qeerHifedr Yo & foma-9%g (content)
multimedia presentation is called ;’él IUF AR ISR wgd
3 |
(A) Design (A) Tesmea
(B) Development (B) SoRIUHE
(C) Storyboard Q (C) wrere
(D) Layout (D) WA
SPACE FOR ROUGH WORK / T% &4 & foa sig
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The Banker’s algorithm is used :
(A) to rectify deadlock

(B) to detect deadlock

(©) to prevent deadlock

(D) to solve deadlock

Which are some of the fields, where

computer plays a crucial role ?
(A) Education

(B) Science

(C) Health

(D) All of the above

is not a multimedia

application/software.
(A) PowerPoint

(B) PageMaker

(C) Flash

(D) Computer Games

Microsoft’s search engineis _ .
(A) bing

(B) altavista

(C) google

(D) none of these

18. et TeniRem T SUNT foren S ® ¢

A) TTH® G HA & fau
B) Sed® W TedH & g
C) Tsai® Ui & fog

D) Ted 7 H & Y

R

(

(
(VI
(

19. T 4 91 ¥ $o W@ & & T I
Hewqul et 77 Ll 8 ?

(A) Toen

(B) T

(C) wr=A
& D) W= wh

20. Toeiifea TEiHTH )/ AEa

?%'T%l

(C) W
(D) PR T

21. TERETRF L ETH  ®)
@D (1) &M (bing)
(B) ST (altavista)
(C) T (google)
(D) T ¥ = &

SPACE FOR ROUGH WORK / 7% &Td & fordl g
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22. A group of magnetic tapes, videos or
terminals is usually under the control of

one master is :
(A) Cylinder
(B) Surface
(C) Track
(D) Cluster

23. Websites that allow you to edit/modify/

create/delete content are called

(A) Wikis
(B) Blogs
(C) Homepages
(D) Webservers

24, The number of pixels a video card can
render to screen and write to video

memory in a second is known as

(A) Fillrate
(B) Graphic Speed
(C) Performance Rate

(D) Fill Frequency

25. The digital payment system from Google
is known as

(A) Google Wallet
(B) Google Payments
(©) Google Money
(D) Google Cash

A 9 2016

22. Hfes eu, fafea eteen fiaa =1 g, s
TT=I: T GRSl & A B g, §

(A) faerer
(B) WHH
© %

~

Qo) =

23. JuEESE S % He= H edit/ modify/
create/delete ®IA HT ATHAM 2 2
e § |

(A) Tafeg
(B) =A™
(C) BTEISH

(D) FaER

24, fafes & g0 U ehvs | BhiA i & ST
el we fafes 3R # fagt S e fuage
T & hI _Ed B

& ») frae
(B) wftrs wite
(C) THEHH T
(D) fra freat

25. e & fefien T fawew = e €
(B) A T

(C) e W
(D) TFTA W

SPACE FOR ROUGH WORK / T% &1d & fo@ g
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26. Which of the following Windows Version
supports 64-bit processor ?

(A) Windows-2000
(B) Windows-XP
(©) Windows-98
(D) Windows-95

27. Which is the smallest of the following
computers ?

(A) Notebook
(B) Laptop

(C) Desktop

(D) Workstation

28. Which of the following can’t print
graphics ?

(A) Daisy Wheel Printer
(B) Page Printer

(C) Thermal Printer

(D) Ink - Jet Printer

29. Junk e-mail is also called :
(A) Cookiee
(B) Spool
(C) Spam
(D) None of these

26. Trefafed § & &0 @ e a9 64-fae
T I U AT § 2

(A) faEr=-2000
& @B fHEs-xp
€) faSis-98
(D) foEis-95

27. T H 9 FF-U1 TR Biel HE § ?

Q) TeIF
(B) WM™
(C) <@
(D) THEIH

28. STH 9 A A1 fiex miftherd e <@l ot Wehell ?

& (v = Fw i
B) TS fiex
(C) 9da fiex
(D) -3 fix

29. Sich $-HE hl gl AR
(A) B
(B) ¥

Q© =
(D) T ¥ %K T

SPACE FOR ROUGH WORK / T% & o fad s

Set- A
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33.
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Which of the following malicious
program do not replicate automatically ?

(A) Trojan Horse
(B) Virus

(C) Worm

(D) Zombie

How are data organized in spreadsheet ?
(A) Lines and Spaces

(B) Layers and Planes

(C) Rows and Columns

(D) Height and Width

The printer in which printing head and
paper is forced together to form the letters
is called :

(A) Impact printer

(B) Non-Impact printer
(C) Page printer

(D) Line printer

High Density double sided floppy disks
could store the following data :

(A) 140 MB
(B) 144 GB
(C) 1.40 GB
(D) 144 MB

30.

A 9 2016

frfafea ® @ s9-u1 Afafaaw 9um
e W Ywitehe & T 7

&) e

31.

(B) TR¥
C) =
(D) STsit

T Weie § Tl e e waid R ?
(A) TE ad WEY
(B) ord q Wi U

& © V@ wHeH

32.

(D) e e fagy

e fiiex, fored s1er AM & forg, B ve
1 TR H TH W BE HAT I T, T8
Wﬁﬂ%:

Q) =i

33.

@ o)

(B) HM-zHER X
€ TR
(D) <A fH&R

TR e} ol wEss vt fewn frfated
TR WR & Tohd! ©

(A) 1.40 THH.
(B) 1.44 e
(C) 140 S
1.44 TR

SPACE FOR ROUGH WORK / 1% & & for& g
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34. To open a new file in MS Word, the
shortcut key is :

(A) Ctl + X
(B) Ctl + N
(C) Cul +Y
(D) Ctl + V

35. What are the units used to measure the
speed of a printer ?

(A) cps

(B) Ipm

(©) ppm

(D) All of these

36. Which of the following is valid IP
address ?

(A) 984.12.787.76
(B) 192.168.321.10
(C) 1.888.234.3456
(D) 192.168.56.115

37. Which of these searches new terms on
internet and stores the searched terms in
a database ?

(A) Crawler

(B) Indexer

(C) Search algorithm
(D) None of these

34. TA.UY. g€ H 791 BEd Qe & fau e
®(FST) ¥

(A) A + TH
Q@ o+
(C) g + =
(D) #ga + =

35. fiex @ TR B T * o R g w1
AN fean s § 2

(A) e

(B) TerdTH

(C) i
& D) W T

36. Trafafaa & & $F o a3y s d. weu 2

(A) 984.12.787.76
(B) 192.168.321.10
(C) 1.888.234.3456
& D) 192.168.56.115

37. Tr=fafen & 9 oF-9 99 g=@e § Ju od
T AT & T S TR o9 H WR A ?

Qn F=

(B) TEFR
(C) &= TenRem
(D) 3w # g T

SPACE FOR ROUGH WORK / T% T8 & o sre

Set - A
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38. Which extension is given to Word 38. El?i TEgHe H fewree gR FHF-H THIEHA
document by default ? ERIRS 1|
(A) .ext (A) 3 TR (ext)
(B) .com (B) .=A (.com)
(C) .doc &© =FF (doo)
(D) None of these (D) T | FE @
39. The task Manager of a computer can be 39. X HI Eh ISR T & R i
opened by a combination of keys : Y T ST T © 2
(A)  Alt+Ctrl+Del Q) SRR
(B) Alt+Ctrl+F5 (B) STee+3HeI+F5
(C) Alt+Ctrl+F10 (C) eMee+shee+F10
(D) Alt+F9 (D) STER+F9
40. Which one of the following input device ~ 40. frafafed # & %M @ Y fea=d IR
is user programmable ? e § 7
(A) Dumb terminal (A) = T
(B) Smart terminal (B) T fHT
(C) VDT (€) =EEL (VDT)
(D) Intelligent terminal Q (D) sfosi= =fHTe
41. It is a malware computer program that ~ 41. J& T AR FrX T B S &4 ot
replicates itself : el s E
(A) Mydoom (A) WEEgH (Mydoom)
(B) Worm & @ = (Worm)
(C) Virus (C) ™I (Virus)
(D) Trojan Horse (D) <rH B (Trojan Horse)

SPACE FOR ROUGH WORK / 1% &ré & fo/d <
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42. T CD i WERU &7AdT I HIYT STl © :

42. The storage capacity of a CD is measured
in:
(A) Kilobyte (A) forelemge |
(B) Megabyte Q (B) WemEe H
(C) Gigabyte (C) Tfrmemge |
(D) Terabyte (D) <qaEe #
43. Which of the following logic families is ~ 43. fA=fafes § ¥ & w1 wffsw Sl o6
well suited for high speed operations ? Titg MRS % fore Suge § 2
(A) TIL (A) T
(B) ECL Qe id
(C) CMOS (C) w.uH.siTd.
(D) MOS (D) TASNLTHE.
44. Which of the following is not an input 44, FH & HF-91 3AYC Feamd 7@ 8?2
device ?
(A) OCR (A) aTEH.ER
(B) COM &@® ==
(C) Optical Scanners (C) snfesa g
(D) Voice Recognition Device (D) =gy fErit=sm feama
45. Dot matrix printer is : 45. i 'ﬁ'@.ﬂﬂ et T
(A) Unidirectional (A) IFEREREA
(B) Bi-directional (B) WE-SHEERMAA
(C) Sequential (©) fafsEfma
(D) Random (D) ¥eH
46. Which one of the following is not an 46, 1= ® 9 SH-91 TR fored & § 2
operating system ?
(A) Unix (A) i
(B) Windows (B) fadEs
(©) Apple Q© T
(D) Linux (D) TN
SPACE FOR ROUGH WORK / T® & & a9 sg
Set- A 14 1602/ UE-BETI/RCE-M
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49.
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1260 computer virus is an example of a

~ virus.

(A) Polymorphic

(B) Multipartite
(©) Macro
(D) Boot Sector

The brain of any computer system is :

(A) Control Unit

(B) Arithmetic Unit

(C) Storage Unit

(D) Central Processing Unit

Using a webpage of a website you click
- to go to another inner level
webpage.

(A) Search Engine

(B) Home

(C©) Hyperlink

(D) Web address

The following is true for an inkjet

printer :

(a) prints an entire line at a time

(b) is a non-impact printer

(c) allows multiple copies to be taken
at a time

(d) prints one character at a time

Codes :

(A) (@) and (b)

() (a) and (0

(© () and (@

(D) (b) and (0

47.

1260 SHFYX ALY EIRLES ]

Th 3] B |

® ) vicRE

48.

(B) WHERIUEREE
(C) R
(D) T X

ot off PR favem o1 o (W) =il
®:

(A) F=E e

(B) <ReuAfew fe

(C) WIS e

Q) e v e

49.

JIEREE F TH JouSI W __ &I
foreTen oA 3Tiafier o/ger & geds W 9 § )

(A) G ISH
(B) @

& ) Wi

50.

(D) 9 Te
T Sehere T % fore Fretfeed o @ -

(@) IO WA T wy fife wa R

(b) T AA-zR Y §

(©) TH 9 e wfeal & & 9] § ww
I S T B

(d) TF R Y gk o FEe e Fae

G

(A) (@) ()

(B) (a) ¥R (c)

©) () ¥R (d)

(D) (b) 3 (0)

SPACE FOR ROUGH WORK / T &/ & o g
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PART - B

(1) HINDI (WITH GRAMMAR)
T -

(1) f&=t (=meRToT ufE )

51. ‘=’ fRg yM HT W B2
(A) SISt
(B) W

& =
(D) <t

52. ‘ufex’ Hygm dfu AW R
(A) o EfY
(B) T iy
(©) dfs dfu
VIDBERIEEE

53. SfdarEe 91 saE
(A) =™

Q@ =
(©) T
(D) T¥™

54, HH-T1 VS ‘HUA’ H THIEETE Ve TE & ?
(A) e
(B) it
(© SO«

Qo) wm@

55. ‘S e, 9% U B Sh-T1 AT | 2
(A) TreEars o
(B) HREYHF o

Q©) g A=
(D) Tafy g=e o

56. ‘3ii@ @l eTa o wEt ot §
& (») i amm

(B) 3T BT

(€ el fr |9

(D) i@l o1 oo S

57. ‘wE-wgA § HiA-9 9HE § 2
(A) wgsife
(B) TR

Qo 5=
(D) fa1

58. HH-U T Y 2
(A)
(B) IS

Q© F
(D) 2t

59. § I 1 TIF DIt
(A) 9@
(B) oWEw

Q©C s=u
(D) SEa

60. ‘THie’ THa T 1 g § 2
Q) s

(B) THRE

©) TH

(D) gt

SPACE FOR ROUGH WORK / T% &9 o fors sig
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PART - B
(2) ENGLISH
ur - |
(2) St

Choose the sentence in which there is no

error :

(a) I trust English.

(b) I can speak English fluently.

(c) I trust the English.

(d) I can speak the English fluently.
(A) (a) and (b)

(b) and ()
) and (d)
) and (d)

© (
(D) (a
Match the one word substitute for words

given in column ‘A’ with a single word

given in column ‘B’ :
/A7 B
(a) A lover of woman (i)
kind
(b) A lover of oneself (ii)
(c) Alover of others (iii)
(d) Aloverof food  (iv)

@ () () (9

egoist

gourmand
philogynist

altruist

& ) @) @ v @

(®) @ @ @ )
© G @) @ @
(D) @@ (@v) @ @)

63.

Qw»

64.

&6

A 9 2016

The old woman, whom
(@)
I thought was a lunatic,

(b)

behaved well at the wedding function

(c)

and gave no evidence of abnormality

(d)

Which part has error ?
Part (a)
(B) Part (b)
(C) Part (c)

(D) None of above

Her teacher told the class that the

(2)

human heart was about as big as

(b) ©

a clenched fist

(d)

Choose the part of the above sentence
which has a grammatical error ?

(A) Part (a)
Part (b)
(C) Part (¢

(D) Part (d)

SPACE FOR ROUGH WORK / T% @4 & ol 78

1602/ UE-BETI/RCE-M
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66.
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BETIY Mtiters Soft =

Choose the sentence in which the use of
preposition is correct ?

Try to see it from my point of view.

(B) Try to see it according to my point
of view.

(C) Try to see it after my point of view.
(D) Try to see it by my point of view.

Match the words in column ‘A’ with
words opposite in meaning given in

column ‘B” :

A7 B’
(a) spurious (i) opaque
(b) transparent (ii) mnocturnal
(c) diurnal (i) genuine
(d) surplus (iv) deficit

@ (b (© (@
(a4 @ @@ @ @)
(B) (v) @) @) @

QO @) O @ @)

67.

&®

D) @ @ @) )

Choose the correct sentence ;
(A) We were late due to the blowout.

Our lateness was due to the
blowout.

(C) The highways were slippery due to
the ice.

(D) Dueto the weather there was alarge
crowd.

68.

Q0

69.

Choose the correct statement regarding
the following sentence :
The students were officially told that
(a)
they are not to cross the road
(b)
against the red light.
©

(A) Part (a) has a grammatical error.

(B) Part (b) has a grammatical error.
(C) Part (c) has a grammatical error.
There is no grammatical error in the
sentence.

Choose the correct synonym for the
word - ‘Fragile’.

(A) strong
& (B) brittle
(C) florid
(D) juicy

70.

Q»

Choose the correct sentence which

expresses; the sentence given below in

passive veoice :

The residents celebrated the Independence

Day.

The Independence Day was

celebrated by the residents.

(B) TheIndependence Day is celebrated
by the residents.

(C) Celebration of Independence Day
was done by the residents.

(D) The Independence Day has been
celebrated by the residents.

SPACE FOR ROUGH WORK / % &4 & f&dl g

Set - A
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PART - B
(3) MATHEMATICS

Which of the following statements are
correct ?

(i) Diagonals of a rectangle bisect each
other.

(ii) Every Rhombus is a parallelogram.

(i) Quadrilateral, whose four sides are
equal, is a square.

(iv) Diagonals of a Rhombus are equal.

(A) Only (i) is correct

(B)k (i) and (ii) are correct

(C) (i), (i) and (iii) are correct

(D) All are correct

A jar contains only toffees with red, white

and blue wrappers. The number of red

4
wrappers is 5 of the number of white

wrappers ones, and the number of white
~

onesis i of the number of blue wrappers.

If there are 470 wrappers in all, how
many of them are blue ?

(A) 120
(B) 150
(C) 130
(D) 200

71.

77

A 9 2016

W - &
(3) TifoTa

TH Q-9 FYT TH & ?

() o % faemvl T g W wEigid
FE LI

(i) Tk HHET gy Tk TR =gy
K1

() TF g frEE W ST TR F
T o1 B R

(iv) o GHE % fohvl ¥9H B ¢ |
(A) A FUF (i) TF B

(B) W (i) & (ii) ¥ B

(C) T (i), (i) TN (iii) TA T
(D) it e T ¥

forelt IR H e, Wihe TR it Yur et <t
@ 91 e YR ) g e T %%
S 1o e 70 9 e o o 2

(A) 120
(B) 150
(C) 130

& o) 200

SPACE FOR ROUGH WORK / 7% @Td & o1& &'
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The average of five consecutive numbers 73. Ui AR GEnsl % 3iEd 16 € @ T 9
is 16. The highest of these numbers is : TG S He wt

(A) 21 (A) 21

(B) 20 (B) 20

(C) 18 &© 18

(D) 19 (D) 19

The ratio of the base and the hypotenuse ~ 74. T HHehIU A4S o SR W& faranef &1 S1ura

of a right-angled triangle is 4 : 5 and the
perimeter of the triangle is 48 cm, then its
area is :

4 : 5% qe B o uReg 48 T @,
Tt o1 &t 2

(A) 90 cm? (A) 90 cm?
(B) 96 cm? & @B 9 cm?
(C) 98 cm? (C) 98 cm?
(D) 92 cm? (D) 92 cm?
75. The least number which should be added 75. % Tan ge e % 1018 § S 9
to 1018 to make it a perfect square is : of &7 9T e g, o
(A) 5 (A) 5
B) 6 Q@E 6
C 4 < 4
(D) 7 (D) 7
76. A number x exceeds another number y  76. U WAl x T W& y § 25% SMH M y
by 25%. By what percent is y less than e x 9 fora wfowa =4 gt ?
x?
(A) 15 (A) 15
(B) 20 & ® 20
<€ 12 C 12
(D) 18 (D) 18
SPACE FOR ROUGH WORK / T% &g & & g
Set - A 20 1602/ UE-BETI/RCE-M
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78.

79.
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Hd g 2016
Find the largest angle of the triangle 77. 39 [ # W98 99 H0 G A St
whose sides are 7 cm, 5 cm and 3 cm : W 794, 5 Y uE 3 9.9 g
(A) 45° (A) 45°
(B) 60° (B) 60°
C 90° (© 90°
(D) 120° & D) 120°
A shopkeeper earns a profit of 12% on 78. Wb GHMGR Ueh fora™ % BY TLIH W 10%
selling a book at 10% discount on the P T F WA IHeh! o= F o] 12% A
printed price. The ratio of the cost price FHuEl € d fohas % %9 9od T8 B4 g g
and the printed price of the book is : T ST BT
(A) 45:56 &) 45:56
(B) 50:61 (B) 50:61
© 36:79 (€ 36:79
(D) 63:92 (D) 63:92
The radius of the cylinder is made twice 79. frft oo TR g FE A @
as large. How should the height be ITeH! Farg § 1 gfiard 2 Tk SaeRt T
changed, so that volume remains the same saftafia ®?
as before ?
(A) 25% of original height & (A) wrferm S w1 25%

(B) 50% of original height

(C) No change in height

1
(D) =% of original height
5 gimn &

(B) WRfetH FH=wE T 50%
(©) = ¥ =g uftedd 7&

(D) TRfEF g i %%

SPACE FOR ROUGH WORK / 1% & & fordl s1g
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80. If the price of coffee is increased by 10%, 80. AfS M o S 10 TG I oM Bl §
then by how much percentage must a 0 ferdlt TRt w1 fopem wfaerd e @< ®H
housewife reduce her consumption, to AT BT TS T 3Tl @i stfafed @ A
have no extra expenditure ? IS IS ?

1 1
9—% 9—%
(A) 9= Qw o9
3 3
8=% 8—%
B 8; B) 8:
1 1
8=% 8=%
© °3 © %3
2 2
8=% 8=%
(D) 8% (D) 83

81. A train completes a journey without 81. UH E‘*f fordt amn = fomr vk 8 = © Tﬁ
stoppage in 8 hours. If it had travelled HA T A ¢ I i 5 TRt/ s SR
5 km/hr faster, it would have done the BT 1 < 39 I h1 6 5 40 TiAe | T’T EXd
journey in 6 hr 40 min. The original speed TR TS ¢ i IR 71 @
of the train was :

(A) 25 km/hr & (») 25 feedlys
(B) 40 km/hr (B) 40 TrHi/ e
(C) 45 km/hr (C) 45 fordl/=a
(D) 50 km/hr (D) 50 ferHl/ =i
. th : 3 _e

82. = vpart of a kerosene tin is filled. If  82. T SEcIE & 5 S g 71 Afg
6 bottles are taken out of it and 3 bottles TOH 9 6 diqd dcf [TeRten T 9l 3 diqd
are filled again, then half of the tin is full. T q: ST T Al e Ser X S €1
Then the capacity of the tin (in bottles) o1 =t eman (Sae #) =B
will be :

(A) 20 (A) 20
(B) 45 (B) 45
(€ 50 (C) 50
(D) 30 &o) 30

SPACE FOR ROUGH WORK / T% &i& & fed s g

Set - A
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83. The value of x from the given figure will  83. fed 73 fo % STTER x &1 HE A

A 9 2016

be :
A A
/% \ 54° \

/o D

43° x 38°>\ 43° i3 38°%
B \c B C
(A) 120° (A) 120°
(B) 124° (B) 124°
(€) 135° &© 135°
(D) Cannot be found (D) 0 & fehan ST Hehell

84. The outer measurements of a closed g4. Tl Sl & @Y fesd & «rEY AM

wooden box are 45 cm X 32 cm X 28 cm. 45 A, x 32 9.7 x 28 AL &1 A Fesn
If the box is made of wood 1 cm thick, 1910, < Fwer | S s Ascaciicd
the capacity of wooden box is : fess =t agman 2t

(A) 33540 cm® @& (A) 33540 =7 AL

(B) 453228 cm? (B) 453228 W Q..

(C) 3 cm? (C) 3% QAL

(D) None of above (D) I H 9 S

SPACE FOR ROUGH WORK / &% & & fo& sve
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85. The volume of the largest cylinder formed 85. T 3MIATHR FTS gch% =) forent |19
when a rectangular piece of paper 22 cm 2 cm x 15 cm 8, T ST H TWE G
by 15 cmis rolled along its longer side will Hrel Sl € @ 39 e 9 a1 S
be : AR IE 2
(A) 570 cm3 (A) 570 cm3
(B) 577% cm?® VIR 577l em?®
) 577-;- cm? () 577% em®
(D) 578 cm3 (D) 578 cm3
86. The income of A and B are in the ratioc  86. A T Bl 311F %1 STUM 3 : 2 T @H HI
3 : 2 and expense are in the ratio 5 : 3. If UM 5: 371 AfE GHI T 200 o s=d B
both save T 200, then the income of A is : %, WAR T E
(A) % 800 (A) %800
(B) ¥ 1,500 (B) ¥ 1,500
(C) ¥ 1,000 (©) % 1,000
(D) ¥ 1,200 & D) 1,200
87. A rectangle of length 35 cm and width 87. U oMy fSwent oramg 35 Q.. qen Tﬂ@'l'&;
28 cm has a semi-circle cut out from each 28 9. T A i@ W& faw & STER A
of its two sides as shown in the figure & QL YSISTl | AT HIe & e 7
below. The area of shaded part will be : 0 Y@iferd | 1 &6 BT
< &5 Cm > 4——35 g, ‘Cﬁ——~——>
~// / I LF
\/ / f'
|/ / ,-\ 28 cm 2815m°r
/jr" -’;{ J,; }
,'4/ r/ ;/ [ .-’.I; \.’}\ / /
(A) 325 cm? (A) 325 9.
(B) 364 cm? VIOBEZEUE:E:
(C) 350 cm? (C) 350 = |,
(D) 308 cm? (D) 308 & WA
SPACE FOR ROUGH WORK / T% &9 & ol g
Set - A 1602/ UE-BETI/RCE-M
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The area of the circle C in the given figure
is 9mr. What is the area of square PQRS ?

a
./

S ; R

P

Z

24
30
36
81

N’

C

~—

(
(B
(
(

S

If 7 men or 8 women or 10 boys can finish
a piece of work in 24 days each of them
working 9 hours a day, then find how
many men with the help of 4 women and
5 boys can finish the work in 18 days
while each of them working 6 hours a
day ?

(A) 10 men

(B) 12 men

(©) 7 men

(D) 6 men

The average age of A and B is 20 years. If
C were to replace A, the average would
be 19 and if C were to replace B, the
average would be 21. Agesof A,Band C
are :

(A) 16,24, 20

(B) 22,18, 20

(C) 18,2216

(D) 24, 16, 18

88.

&3 T =9 0 g9 C T A 9w T, A o

PQRS 1 e 1 8 ?

P Q
/C

~

S R

/

(A) 24
(B) 30

&©) 36

89.

&©

90.

Qo

(D) 81

e 7 9% 91 8 HiEET 91 10 < T HH i
24 Tt & oof #xa € v e 9 5 wm
FL, O 4 Afsenel T 5 a=Al & WY fohaq
%y, Yo Te 6 5 %M L g3, 18 fedl o
qui I ?

(A) 10 9
(B) 1277w
7 e
(D) 6 Tem

AT B im g 2098 71 AR C, A
T T o R A 3 9Ty 19 99 & S §
qe1 Ife C, B 1 T ol § a1 siied 311 21
B S § A, B, C i 3Ty 2t

(A) 16, 24, 20
22, 18, 20
(C) 18,22, 16
(D) 24,16, 18

SPACE FOR ROUGH WORK / T% &1d & fed se
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PART - B AT -
(4) GENERAL KNOWLEDGE (4) QM= A
91. At which of the following place Subhash ~ 91. fr=ifafed & @ fFe o R gy a5 99 -
Chandra Bose took over the leadership of 3T Tég Wit &1 e Tgvr fepan ?
Indian National Army ?
(A) Bangkok (A) d&ER
(B) Rangoon (B) M
(C) Singapore Q (C) TEmgR
(D) Tokyo (D) ==l
92. After independence which of the  92. T&al % va FMefared # § ffg aem
following plan recommended Govt. B e Qe 39 &5 § ety few &
investment in irrigation and industrial aagw i TS ?
sectors ?
(A) Nagpur Plan (A) TR ASHT
(B) Delhi Plan (B) Tt Frsr
(C) Madras Plan (C) WS S
(D) Bombay Plan Q (D) =TS A
SPACE FOR ROUGH WORK / T% &1 & fod wig
Set - A 1602/ UE-BET1/RCE-M
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93. Which of the following rights are given

to non-citizens under article 22 of the

constitution ?

()

(b)

(B)
(©)

(D)

the right to be informed as soon as
may be of ground of arrest.

the right to consult and to be
represented by a lawyer of his own
choice.

the right to be produced before a
Magistrate within 24 hours.

the freedom for detention beyond
the said period except by the order
of the Magistrate.

(2)

(@), (b)

@, (b), ()
@), (®), (¢), (d)

94. Which of the following pair is correct ?

Organic Rock - Slate
Richter Scale - Wind velocity
Black cotton soil - Podzol

Tornadoes - Australia

93. T H § -4 AR diaum & e
22 % 3= IR-Amies) 1 few Ty ¥ 2

(a)

(b)

(d)

(A)
(B)
©
Q0D

Rt s ol <l sfenfaeis sam

ST T SRR

ST % o Fehtel ¥ TSt i
EEICIEIREIRrat

FRFR & a1g 24 59di & 31y fonselt
AfSege o guey U9 fony ST ot S1fdenR

3K 9HT ¥ Y afS e & Ry %
o f109 9 s

()

(@), (b)

@), (b), ()

@), (b), (c), (d)

94. Trefefea & 9 =9 @ <Sidh 9@ 2

(3
(B)
©)
@ o)

FHEfTE e - Wi
et &het - a1y g
el U TSI ~ TSTe

e - ARl

SPACE FOR ROUGH WORK / 7% &R & fod sme
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95. On which river Gandhi Sagar dam has
been constructed ?

(A) Yamuna
(B) Chambal
(C) Kali Sindh

(D) Narmada

96. Which statement is true ?

(a) All the islands in the Arabian Sea
have a coral origin.

(b) These islands are surrounded by
fringing reefs.

(A) (a)is true
(B) (b)is true
(C) Both (a) and (b) are true

(D) (a) is true but (b) is false

97. Which of the following pair is incorrect ?
(A) Ajanta - Painting and Sculpture

(B) Mahabalipuram - Events of

Mahabharat
(C) Meenakshi Temple - Cauvery River

(D) Khajuraho Temple - Chandela

95. TIR-GIR iy foFe T 9T S W@ g ?

(A) IgT
Q® ==

(C) =it THu

(D)

96. Il HUYT G & ?

(a) W@ GPR & Wt gl o1 gV TETA
YT

(b) 3 g yare fufwat & oy €

(A) FHU (a) T B
(B) &M (b) T ¥
F (a) T (b) T WA B

(D) Y (a) T AT HYHA (b) A B

97. frafeafad 3 9 SiA-5 S wE T8 R ?
(A) st - ot e qfd
(B) VR — WEIWRA Wi HeAY

& ) et wfR - FE
(D) GUE! Af<t - ==l

SPACE FOR ROUGH WORK / 1% & & fad g
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98. What is the Gender Development Index

(GDI) of India in the year 2013 ?
(A) 0.586

(B) 0.828
(C) 0.563

(D) None of these

99. What is the name of Dormant Volcano of

Andaman island ?
(A) Barren Island
(B) Camorta Island
(C) Long Island
(D) Sisters Island
100. Season unemployment is related to :
(A) Public sectors
(B) Agriculture
Private sectors

©

None of above

(D)

98.

=¥ 2013 H 9RA 1 WAfew formre ek
FE?

(A) 0.586

& @) 0828

99.

100.

(C) 0.563

(D) o8 | % T

e BT UHE % YgW SoreqE! i F
THE?

(A) o g

HHRE G
i aTEs
(D) fowed g

(B)
©)

(A) wESIeR & 9

&@ FEd

() frsft & |

(D) ST H I TR

SPACE FOR ROUGH WORK / T% @Td & for& g
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101. For the enforcement of fundamental 101. Hfaum & v A 4 Sfeafaa Hifees sifusr
rights conferred by part III of the H AN w4 SR R o= s & fau
constitution and for any other purpose ﬁﬁéaﬁw&ﬁm, WTFH’&SI, gy, SO
who has aright to order of writs of Habeas TG IR ATYFHR J=51 T T H AMHR
Corpus, Mandamus, Prohibition, T
Certiorary and Quo warranto :

(A) Supreme Court of India (A) HIRA S Falisd =~

(B) High Court QB = =EeE

(C) The Tribunal made under the (C) dfaur % srria ifsd =Rt
constitution

(D) None of above (D) 39 H HIE &

102. On the coast of which river tea is 102. TRfE ® form 98 & 7€ W =/ & St @
cultivated in Darjeeling ? STt 82
(A) Tista &) fm
(B) Surma (B) g™
(C©) Manas (G Hr ™
(D) Lohit (D) <fea

103. The remains of Vijayanagar Empire can  103. ToSaR Qg & o7efie 98 51 9 ¢
be found in :

(A) Bijapur (A) SISTRH
(B) Golconda (B) iUl |
(C) Hampi Qo =i
(D) Surat (D) §@H
SPACE FOR ROUGH WORK / T %14 & ferd s
Set - A 1602/ UE-BETI/RCE-M
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104. On which of the following date Gandhiji
started his historic March from Sabarmati
Ashram to Dandi ?

(A) 12 March, 1930
(B) 15 March, 1930
(C) 6 April, 1930

(D) 10 April, 1930

105. What is the percentage of skilled
work force in India as per Labour Bureau
Report 2014 ?

(A) 5 percent
(B) 2 percent
(C) 1.5 percent

(D) None of these

106. What is the share of Agriculture and
Allied Activities in Gross Value Added in
Indian economy for the year 2014-15 at
new series 2011-12 ?

(A) 18.6 percent
(B) 17.9 percent
(C) 17.6 percent

(D) 29.7 percent

104. Frefofaa &  frg R o el Y Sred
agH A Tl & fou tfqefas vgasn yiw
1?2

& (1) 12 W, 1930
(B) 15 HT=, 1930
(C) 6 I, 1930
(D) 10 ¥, 1930

105. A= g Ui 2014 F ATER 9Rd §
IS IRV 1 e 4 e ?

(A) 5 gfE
Q@ 2w

(©) 1.5 e

(D) T & = T

106. 2011-12 1 75 S@en W a9 2014-15 F
fom s srefemaeen ® fy wd @
foranell #1 9w Joaatda e # @ feemn
g7

(A) 18.6 wiawE@
(B) 17.9 Wfiem
& © 176 wfww
(D) 29.7 wfav@

SPACE FOR ROUGH WORK / 1% &rd & & s
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107. What is correct about National Capital

of Delhi according to 69" constitutional
amendment ?

() The Administrator will be
designated as Lieutenant Governor

(b) The Chief Minister is appointed by
Lieutenant Governor

(c) The Chief Minister is appointed by
President

(d) The Lieutenant Governor will
exercise his powers with the advice
of Council of Ministers

() In case of differences between
Lieutenant Governor and Council
of Ministers, the matter is referred
to Home Ministry

(f) In case of differences between
Lieutenant Governor and Council

of Ministers, the matter is referred
to The President

© ® @ @ O

(D) None of above

107. 69 & Wifaene T & FATER UL
T foeeht & gy § W@ w=n e ?

(a) TRIEE T YA 39 TEAITA BT
(b) U WU % g qEErHs ® i

i Sar

() UUld & g qEaH %1 gl =i
St

(d) 9T AI-IREE i Here § St
NIEsRIEIRRILE AUl

(€) UTsGt 3R Af=rafieg  wea Aavs
&1 feafq & wotor & WA w1 AN
ST

() 9T R ARG & HE HAwg
=i feufa & wertor Tzafa sl ST S

4 @ © @ @

® @ ® @ O

© & @ @ O
® (D) ST H T

SPACE FOR ROUGH WORK / % &Td & el STE
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108. By which of the following provisions the

Indian Judiciary is called independent :

(a)

®

(8

(h)

(A)

The Judges are appointed by the
Chief of the Executive.

The salary of Judges can not be
reduced during the tenure.

The removal process of Judges is
tough.

The Judiciary is given the power of
Judicial Review.

The tenure of the Judges is long.

In India there is Supremacy of the
Constitution.

India is a union of states.

There is separation of powers
among the Executive, Legislative
and Judiciary.

None of above

108. /=1 4 @ f@ @YUMl % SR IREHE
STIIeTeRT T3 HEeTel € :

(2)

(b)

(c)

(8

(h)

e ot Frgfea srfmferen steag
%mﬁW%l

IS T Ao STF FEE § FH
w2t foran ST Weha |

qrEEtel i ue=gfd Wi Gfsha icd
71

ruifersht st =afde qAracrRd i
atfurepr foan e B

qrendtel 1 e T g |

R § Hiaym wei= )

WA ToE| ol Teoh T § |

wrigiferen, fawmfae sk =madtast

% T NI ST JERY €
@ ® @© O @
k) (© @ (@ M
@ ® @© ( O
SR H R TEl

SPACE FOR ROUGH WORK / T% &/ & fed s
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109. Which of the following is the reasonable

110.

restriction under article 19 ?
(A) To fix a place for Bus Stand

(B) To fix minimum wages in a
particular factory.

(C) _Imposition of license fee for such
trades

(D) Al of the above

What is the total foodgrains production
for India estimated by Ministry of
Agriculture during the year 2014-15 ?

(A) 265.6 million tonnes
(B) 283 million tonnes
(C) 257.1 million tonnes

(D) 255.6 million tonnes

A 9 2016

109. T8 J -1 TS 19 o IA=T1d JfKIgeH

Taefe 82

(A) =9 WS % fag o e s

(B) TH fafte @™ H =Tan Asgy
Fruifq =

(C) Teret =amar % e emsdE Yoo fuifa
H |

& D) swEw wh

110. =9 2014-15 &t emafy & fore Sy w0 %

BN 9RA & T e foham TR Seie
STHM TR 771 © ?

(A) 265.6 Tafe= 2

(B) 283 fafersm <A

&©) 2571 fufeem =

(D) 255.6 Tafe= <A

SPACE FOR ROUGH WORK / T% @h1d & o1& siTg
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PART - B HIT -

(5) CURRENT AFFAIRS (5 ) FHEHRIER TSTRH

111. In which of the following group of states 111. Frfafes ¥ 9 for T & wE | et

the forthcoming assembly elections will faum g g e e 2
be held ?

() Assam | @ oEH

(i) Punjab (i) TSI

(iiiy West Bengal (i) 9f¥=H STA
(iv) Arunachal Pradesh (iv) STEVTER Ta¥l
(v) Kerala V)

(vi) Tamil Nadu (vi) dHATg

(A) (i), (ii) and (iii) (A) (i), (ii) TN (i)
(B) (i), (iii) and (iv) (B) (i), (iii) TN (iv)
(©)  (iv), (v) and (vi) (©) (i), (v) T (v)
(D) (v), (vi) and (i) & D) ), (vi) 7 (i)

SPACE FOR ROUGH WORK / T% @htd o fo1d sE
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112. Donald Trump is a presidential
Candidate, in the forthcoming USA
presidential election for which party ?

(A) Democratic party

(B) Republican party

(C) Liberal party

(D) None of above
113. What is ASTROSAT ?

(A) India’s First interplanetary mission
for Mars

(B) It is the First Space Observatory
launched by India

(C) It is India’s First Remote Sensing
Satellite

(D) None of above

114. Which of the following is not the aim of
the “Setu Bharatam Project” ?

(A) Tomake all National Highways free

from railway level crossing
(B) Constructing New Bridges
(C) Reconstructing Old Bridges

(D) None of above

112, HgF T SAfen % st Tgufa gAE %
T Ertee 7 forg O o SEfgaR €2

(A) THRfesw e
& () Rufserr i
(C) forera drel

(D) W H RIE &

113. ‘T FT?

(A) ¥% 979 U % fau 9Ra ® 9em
e e §

TE IRG 1 JU9 e Ssien §

I

(C) ¥ 9Rd i Jom fiwiie Sfd 3uwe ©

(D) S H FIE T8

114. FrAfafeg § ¥ 97 wwad deise’’ &1 ==
R T ®?

(A) THE TFE TR 1 o HIET W G
EeCEil

(B) T gal w1 frefor
(C) T it = AfHAT
& D) wE = T

SPACE FOR ROUGH WORK / T @hTd & o1& SFE
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Freedom-251 has been presented as :
(A) Smart Mobile Phone

(B) Android Phone

(C) (A) and (B) both

(D) None of above

In this year Oscar awards for the best film
is given to :

(A) Revenant
(B) Spotlight
(C) Bridge of Spies

(D) Mad Max : Fury Road

ICGS Apoorva is a :
(A) Fast patrol vessel
(B) Submarine

(C) Radar

(D) Short Range missile

115. WISH-251 =i frE 9@ S foman T 2
(A) TR HEEA B F TG H
(B) TSHE WM & ®7H

& © (A) T (B) I

(D) ST § HE TE

116. 39 99 § Ta 9 fRed & AT STeemt qehR

forg Toreq =t feom a2

(C) forst &irw wred

(D) T ¥ : W s

117. ICGS 3Tqat  :

@D (4) e
(B) g
(C) =R

(D) ¥ T g&9™=A

SPACE FOR ROUGH WORK / 7% &1 & fo sig
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118. Which of the following is not connected
with Prime Minister recent visit in this
State ?

(A) Gaudia Mission
(B) Kurubhat
(C) Rurban Mission

(D) None of above

119. Which of the following statement is not
true about P.A. Sangma ?

(A) He was a member of Lok Sabha
Nine times

(B) He was Speaker of 11™ Lok Sabha

(C) He was Chief Minister of
Arunachal Pradesh

(D) None of above

120. Which of the following European
Countries is in deep financial crisis for last

one year ?

(A) Poland
(B) Greece
(C) Hungary

(D) Romania

A 9 2016

118. TUFEST ¥ TE & F W WA F Y9/
fpefafaa § o Heiftd @& 82
@ () ifem faem
(B) PN
(C) WA foem
(D) ST H ®IE TE

119. 9 T F o # Frefaten § § @
TEe?

(A) & TR R e

(B) & 11 drehwe & SeAE 3
& © Y SO YW % JEEHA 3

(D) ST H HE T

120. Frefafed # & w4 @ gt < fread o
g & iR fodia dwe A ® 2
() e
Q@
€ T
(D) T
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(6) GENERAL KNOWLEDGE OF (6 ) ST i QHHTH AR
STATE

121. What was the total installed capacity of
electricity generation excluding nuclear
power as on 31.12.2014 in the state ?
(A) 10689 MW
(B) 11152 MW
(©) 57814 MW
(D) None of these

122. What is correct about the ordinance
making power of Governor ?

(i) The Governor can only issue
ordinances when the State
Legislative Assembly is notin session.

(i) The Governor can issue ordinance
when the State Legislative Assembly
is in session.

(iii) The Governor must be satisfied that
Circumstances exists to take
immediate action.

(iv) The court can examine the validity
of the ordinance on the ground for
the issuing the ordinance.

(v) The existence of such necessity is a
justiciable issue.

(vi) Ordinance making power is a
discretionary power of Governor.

(vii) The Governor exercise this power on
the advice of Council of Ministers.

(A) @, @), (vi)

(B) (@), (v), (v)

©) (@), @), (vi)

(D) (i), (v), (vi)

121. 9 # f@0is 31.12.2014 § feray diek
W BISH A Tl aman forg wife
G Teran S <eht o1 ?
(A) 10689 WA
& () 11152 FMEE
(C) 57814 QIETE
(D) T ¥ HE &
122. TSI i STEARY SR W o foug & war
FMR?
@) o T faumEe w1 SREYE 7w
T a9 & [T AR W H
RETIES
(i) & v faumew 9 § @ 99 o
T STEATRY SR Y Hhall © |

(iii) TS W WP S Aifen foe T
qikfeafaai faemm ¥ f qope srfart
o S|

(iv) STEARY S & o SMYR &t derar
T T AT T Hehell © |

(v) oTEeIehal =i Iufafq Th =
fawa 21

(vi) STEHRY S A I e T &
wiaae e 2

(vii) ToIIT 39 SIfert 1 gamT HiEgRug
HeATE | A B

(A) (@), (), (vi)

(B) (i), (iv), (v)

& © @), (), (vi)
(D) (i), (v), (vi)

SPACE FOR ROUGH WORK / T% &1 & fo wrg

1602/ UE-BETI/RCE-M

39 Set - A



{diaprep.in

123. How many lakh hectares irrigation

A 9 2016

123. TH U9 ¥ I % W€ fopan o R # A

capacity is created till March 2014 after 2014 e Te=E e o frior feman T ?

formation of this state ?

(A) 19.04 Lakh Hectares (A) 19.04 TG FHRX

(B) 13.28 Lakh Hectares (B) 13.28 ¥@ BHX

(C) 5.76 Lakh Hectares & (©) 576 @ TR

(D) 7.56 Lakh Hectares (D) 7.56 @ &FI

124. Which of the following is correct ? 124. FrEA ¥ d G FT?

(i)  The President-in-Council consist of (@) ATt IRug i Jfage-3a-
the president and seven members in FREfoe § TH e SR WA S
case of municipal council. GRS

(i) The members of the above council (if) IR FHIETHE TG, TRIereh! Gy,
are elected by the members of % UTE g A 9 B |
municipal council.

(i) A few members are nominated (iii) e FEAA # 9 95 TR EEIRK
from Nagar Panchayat in above @ THifera ferg wmd §1
council.

(iv) The president of municipal council (v) TRUTfersT 9Rug w1 LA, SH
is ex-officio chairman of above HIEFAE 1 T HTAfd Bl € )
council.

(v) In the absence of the President of (v) Faarferst aftug & STeda Eill
municipal council he nominates a srqufeefa § o8 3 HEEA &t SShi
member to preside over the WY YA T & AT TH G&H e
meetings of above council. AT LT ¢ |

(vij The members of President-in- (vi) jfage-ga-wEfaa & 9w,
Council hold office during the TR qRug & 3Teael THIs T
pleasure of president of municipal 39 9€ T I T ¢ |
council.

@) (), @), (vi) Q©®) @, @) )

(B) (i), (ifi), (V) (B) (i), (i), (v)

© (), (i), (vi) (© (), (), (vi)

(D) (), (v), (v) (D) (i), (), (v)

SPACE FOR ROUGH WORK / T &rd & fordl s
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Stalactite and Stalagmite formation of
Karst landscape is found in :

(A) Kutumsar Cave

(B) Barsur

(C) Chitrakot

(D) Dalpat Sagar

When is Rajim Kumbh fair held ?
(A) Magh Poornima
(B) Magh Amavasya
(C) Paush Poornima
(D) Kartik Poornima

What is the major mineral in the state ?
(A) Iron-Ore

(B) Coal

(C) Lime-stone

(D) Dolomite

Where is ‘Gems and Jewellery” the Special
Economic Zone created in the state ?

(A) Rajnandgaon
(B) Raigarh

(C) Rawabhatha
(D) New Raipur

Which of the following is not included in
the most backward tribals of this state ?

(A) Abujhmadia
(B) Kanwar

() Kamar

(D) Baiga

125. FE RS § Mg LomrmnRe @ WermEe
78] et & ¢
@ @) FFRITH
(B) SR
(C) farre
(D) TAYT WK

126. T H9 Aell F9 T € 2
@ (A) i

(B) M STHTEEN

(C) i gfvfem

(D) ehfdier gfofn

127. U9 ¥ yO@ @i wF o § 2
(A) wre-3TT%h
& @
(©) TA-TeER
(D) erdmREe

128, ‘S wo saert’ ferdiw anfen s T A sl
gfra faran o €2
(A) TSFETTE
(B) TFTE
(C) eI
Q@) TR

129. frfafag & @ =9 30 =T =1 st
et SHenfaal § wftaferd 7@ &2
(A) TS
Q@ FE
(€) =+AR
(D) s

SPACE FOR ROUGH WORK / % @14 & ol g
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130. At which of the following place in this

131.

132.

state the incident of revolt against the
British occurred in 1857 ?

(A) Raipur

(B) Bilaspur
(C) Sambalpur
(D) Sonakhan

In which distriet of this state Tiger point
waterfall is located ?

(A) Bastar
(B) Korea
(C) Sarguja
(D) Jashpur

For which of the following the riddle
‘panch bhai ke eke angana’ is popular in
this state ?

A 9 2016

130. 39 TG & Frefafoa § | 5w @@ ¥ 1857

T ol & foeg fogie =it wen ufed g8 2

(A) TH
(B) foeIEg
(C) TR

& @) dFmEH

131. IR URE S99 39 T ¥ fHY e |

ferm 72
(A) TR
(B) =ifEn

&©

(D) SR

132. frfafed o @ fwgs fau SHsen (Jeelt)

‘g ¥ ¥ T ST 39 U9 N wefed €7

(A) Foot (A) ds (R
(B) Wrist (B) e
(C) Ankle (C) =&
(D) Palm Q (D) et
133. In which of the following year peasants’ 133. 39 -9 9 SR SHiEk 7 frfafea
movement occurred in the Dondilohara i § forg o H foper sTidier gom ?
Zamindari of this state ?
(A) 1920 A.D. (A) 1920 .
(B) 1925 A.D. (B) 1925%.
(C) 1937 A.D. &© 197%
(D) 1942 A.D. (D) 1942 %.
SPACE FOR ROUGH WORK / 1% &rd & for&l <rmg
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The President and members of Nagar
Panchayat take oath before whom ?

(A) Collector

(B) Addl Collector

(C) Chief Executive Officer
(D) Sub-Divisional Magistrate

In which place of this state Rout Nach
Mabhotsav is organised, since 1978 ?

(A) Raipur

(B) Bilaspur

(C) Jagdalpur
(D) Rajnandgaon

Interest- payment is included in the
following expenditure :

(A) Planned Expenditure
(B) Non-plan Expenditure
(C) Capital Expenditure
(D) None of above

Which touriét place is ‘ Coﬁéidergd as the
birth place of St. Vallabhacharya ?

(A) Rajim
(B
(
(

N’

Sirpur
C) Champaranya

)
D) Sihawa

134. T 49 & ALY I UeH Ty gay

IO T ?

(A) FARR

(B) ifafiaa wasRt

(© et Fuer e

@ (D) s e

135. ¥ 1978 9 34 U9 o for¥ T W T3d 19

TRIHE SIS oIl 8 ?
(A) WL

& @) fomEg

(C) STRER
(D) TS

136, <SI- ST Tt o7 X e fell ST -

(A) STESFTTE =g

& ) R-smEsETE =

(©) st =
(D) W # § forelt A 7

137. F 91 T el Ha TeeTHEr %1 SR

TSR ?
(A) Tfsm
(B) Ry

& © =uwrm

(D) foemen

SPACE FOR ROUGH WORK / 7% & o &l Sig
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138. 1§ & & W1 R 39 T 1 7@ & ?

138. Which is the principal tax of this state
from the following ?
(A) Commercial Tax & (a) =fofTE =
(B) Central Sales Tax (B) EEAEACERICT
(C) Entry Tax (C) ¥a% &
(D) Hotel Tax (D) Bed =
139. By which of the following name the metal ~ 139. frefafaa § 3 f6g 79 9 @ T & TS
sculpture art of Raigarh district of this IEGEIR G (RETGIES RS 16l g7
state is known ?
(A) Malar (A) WHAR
(B) Ghadwa (B) =&l
(C) Thara &< =
(D) Tara (D) T
140. Under whose leadership a forest 140. fodet 1930 ® 39 T H HRIGHS THE I
Satyagraha took place at Mahasamund W frefeiea o 9 frges Age 9 ST HeanE
in this state in September 1930 ? g7
(A) Narayan Rao Meghawale (A) TRERE AT
(B) Shankar Rao Ganodwale Q (B) TR THIgaT
(C) Sunderlal Sharma (C) F=Iad I
(D) Nathuji Jagtap (D)  Teegsit STy
SPACE FOR ROUGH WORK / T® &/ & ot F§
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(7) SPORTS (7) @@ER]

141. Which of the following is not true about
under - 19 world cup cricket ?

(A) The final match was played in
Mirpur

(B) WestIndies beats India by 5 wickets
in final

(C) Keacy Carty was named “player of
the tournament”

(D) Rahul Dravid was coach for Indian
team

142, 215t FIFA World Cup 2018 is going to be
organized in :

(A) France
(B) England
(C) Russia

(D) Holland

141. 3= - 19 fava %y forhe & ==y § T
TE T 72

(A) THH FEAA H IR H Wl T
(B) I 3fUes I WA § Wi i 5 forhe
| &

& © FEwEw e e it
o =

(D) WREE 3 & HF Tgd 2fae o

142. 21 9 Biw fava 9 2018 el SIS fowa
@ ?

(A) W™

(B) ¥US
Q© ==

(D) e
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143. Where was the 12t South Asian Games

organised ?

(A) Guwahati and Imphal
(B) Guwahati and Shillong
(C) Guwahati and Itanagar

(D) Guwahati and Kohima

144. Player of this state Renuka Yadav is
associated with which of the following

game ?

(A) Cricket

(B) Hockey

(C) Badminton

(D) Tennis

145. ‘Playing in my way’ is the name of
autobiography of which of the
following ?

(A) Kapil Dev
(B) Sunil Gavaskar

(C) Sachin Tendulkar

(D) Rahul Dravid

143. 12§ 2o TR |l 1 A el [
w7

(A) TERT TE TR
& B R fam
(C) TRl T IR
(D) IRl ol ehifert

144, TH 9 &) fgee Yoent e e # 4 fod
o ¥ Feiftw 7 ?
(&) fmwe
@@ @
(C) wsfHed
(D) <frE

145. ‘wign 51 9% 9’ f § | forwent steAeRen
H AW T ?
(A) iU 9
(B) G e
(C) e TgE
(D) A =g
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PART - B
(8) NATIONAL-INTERNATIONAL

146. Industrial Development Bank of India
(IDBI) started function in :

(A) 1950

(B) 1955

(C) 1960

(D) 1964

The for Economic
Commission for Asia and Pacific is at :
(A) Manila

(B) Singapore

(C) Bangkok

(D) None of above

147. Headquarters

148. Which of the following is not correctly
matched ?

(A) Berlin - Rhine

(B)
©
(D)
The Indian Flag was officially adopted on
which of the following date ?

(A) 15t August, 1947

(B) 22nd July, 1947

(C) 26t January, 1950

(D) None of above

London - Thames
New York - Hudson
Vienna - Danube

149.

150. Who is the Vice Chairman of Niti Ayog ?
(4)
(B) Arvind Pangaria
(C) Bibek Debroy
(D

) Arvind Subramaniam

Raghu Ram Rajan

-00o0-

T -4
( 8) Tur-faqer
146. YA A fohm S e TR g3 2

1950 H
1955 H
C) 1960 ®

& D) 1964 ¥
147. ufyrn aen Yfafee o1 enfds smam =1
e el € 7
(A) THren
(B) fHm
Q) =
(D) SWed H HE Ta

148. Frfafea § @ wF o 9 gafea 7@ g2

(
(B)
(

149. YR o &1 forg fafyr @ sifusa =9 &
Y H YrRo] T 73 ?
(A) 15 3T, 1947

& B 22 TEE, 1947
(C) 26 e, 1950

(D) ST ¥ FE T&l
150. ifa STENT % SUEL B € 2
(A) T TSH
& @) swfa< TR
(C) foei® o™
(D) srfa< You=m
-00o0-
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SET - A
IO SR T T W ¢ 3.00 HS } tfereReT o7 : 150
Time for marking answers : 3.00 Hours Maximum Marks : 150
e :
1. 39 weA-Yfae # Fe o E -
T - o7 ;. HERET el Qa7 1-50
- (1) &= (vt ufed) 51-60
(2) 3sH 61-70
(3) wfora 71-90
(4) QA FH 91-110
(5) GHETEie AR 111-120
(6 ) ST T WU SR 121-140
(7) @&THS 141-145
(8) <ur-faawr 146-150

YR Uy 1 3tk T ¥l T WO B e Stferd ¥

2. Tl % T, & 7€ OMR STW-¥ie (SHWR-¥e) W 3ifehd it

3. TEId IOF 3ifehd @A WX 1/4 3{ek 1 ST

4. TrE it T F Fogoe 91 @ o @ Hese WA 1 5En afid €

5.  OMR IST-32 (SER-3M2) &1 Yo e T UE ¢ e = i/ awd e 98 W S &
3o Wi = fiere anfe ug S fous woeaed 98 Tl g W |

Note :
1.  This Question-Booklet contains Parts -
Part - A: Knowledge of Computer 1-50
Part - B: (1) Hindi (with Grammar) 51-60
(2) English 61-70
(3) Mathematics 71-90
(4) General Knowledge 91-110
(5) Current Affairs 111-120
(6) General Knowledge of State 121-140
(7) Sports 141-145
(8) National-Internationai 146-150

Each question carries 1 mark. All questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.

1/4 mark will be deducted for each wrong Answer.

Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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